
5614/(Set : D)/ II   P. T. O. 

CLASS : 12th (Sr. Secondary) Code No. 5614 
Series : SS-April/2021 
Roll No.           

jktuhfr'kkL=jktuhfr'kkL=jktuhfr'kkL=jktuhfr'kkL=    
POLITICAL SCIENCE 

HkkxHkkxHkkxHkkx – II 
PART – II 

¼¼¼¼oLrqfu"BoLrqfu"BoLrqfu"BoLrqfu"B    iz'u½iz'u½iz'u½iz'u½ 

(Objective Questions) 

ACADEMIC/OPEN 

[ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 40 gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 40 questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

    (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

        All questions are compulsory.    
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    (ii) fuEufyf[kr oLrqfu"B iz'uksa (1 ls 40) dks rhurhurhurhu Hkkxksa esa ckaVk x;k gSA Hkkx & v] Hkkx & cHkkx & v] Hkkx & cHkkx & v] Hkkx & cHkkx & v] Hkkx & c rFkk 
Hkkx & lAHkkx & lAHkkx & lAHkkx & lA Hkkx vHkkx vHkkx vHkkx v esa 1 ls 20 rd cgqfodYih; iz'u gSaA izR;sd iz'u esa pkjpkjpkjpkj fodYi fn;s x;s gSa] 
ftlesa ls lghlghlghlgh fodYi dk p;u dhft,A Hkkx & cHkkx & cHkkx & cHkkx & c esa 21 ls 30 rd ,d 'kCn,d 'kCn,d 'kCn,d 'kCn ;k ,d okD;,d okD;,d okD;,d okD; okys 
iz'u gSaA izR;sd iz'u dk mÙkj ,d 'kCn,d 'kCn,d 'kCn,d 'kCn ;k ,d okD;,d okD;,d okD;,d okD; esa nhft,A Hkkx & lHkkx & lHkkx & lHkkx & l esa 31 ls 40 rd 
fjDr LFkkuksa dh iwfrZ dhft,A 

        The following objective type questions (1 to 40) are divided into three parts. 

Part – A, Part – B and Part – C. Part – A includes 1 to 20 multiple choice 

questions, each question is having four options, choose correct possible 

option. Part – B includes 21 to 30 one word or one sentence answer type 

questions. Part – C includes 31 to 40 filling the blanks type of questions. 

Hkkx Hkkx Hkkx Hkkx –    vvvv    
PART – A 

fuEufyf[kr cgqfodYih; iz'uksa ds fn;s x;s pkj fodYiksa esa ls lghlghlghlgh fodYi viuh mÙkj-iqfLrdk esa fyf[k, % 
Write the correct answer of the following multiple choice type questions in your 
answer-book from the given four options :  

1. fuEufyf[kr esa ls dkSu-lk rÙo jk"Vª fuekZ.k dks izHkkfor djrk gS \ 1 

(A) vkS|ksxhdj.k (B) f'k{kk dk izlkj 
(C) uxjhdj.k (D) mi;qZDr lHkh 
Which of the following factor influencing the Nation-Building ? 

(A) Industrialization (B) Spread of Education 
(C) Urbanization (D) All mentioned above 

2. Hkkjrh; Lora=rk dkuwu ikfjr gqvk % 1 

(A) o"kZ 1947 esa (B) o"kZ 1948 esa 
(C) o"kZ 1946 esa (D) o"kZ 1950 esa 
Indian Independence Act was passed on : 

(A) Year 1947 (B) Year 1948 

(C) Year 1946 (D) Year 1950 

3. uo-jk"Vª fuekZ.k dh pqukSfr;k¡ gSa % 1 

(A) Hkkjr dks ,drk ds lw= esa ck¡/kuk (B) yksdra= dh LFkkiuk 
(C) lektewyd fodkl (D) mi;qZDr lHkh 
The challenges of New-Nation Building : 

(A) Unite India in Oneness  (B) Setup of Democracy  
(C) Societial Oriented Development  (D) All of the above 



 ( 3 ) 5614/(Set : D) 

5614/(Set : D)/ II   P. T. O. 

4. foHkktu ds le; Hkkjr esa dqy fj;klrksa dh la[;k Fkh % 1 

(A) 365  (B) 465 
(C) 665  (D) 565 
The number of provinces in India at the time of independence, were : 

(A) 365  (B) 465 
(C) 665  (D) 565 

5. fuEufyf[kr esa ls fdl usrk us dkaxzsl dks tu vkUnksyu dk :i fn;k \ 1 

(A) ia0 tokgjyky usg: us (B) jktsUnz izlkn us 
(C) fouksck Hkkos us (D) egkRek xk¡/kh us 
Which of the following leader has given the shape of People's Movement to the 

Congress ? 

(A) Pt. Jawaharlal Nehru (B) Rajendre Prasad   

(C) Vinoba Bhave  (D) Mahatma Gandhi 

6. Hkkjrh; dE;qfuLV ikVhZ esa foHkktu dc gqvk \ 1 

(A) 1962 esa (B) 1964 esa 
(C) 1957 esa (D) 1970 esa 
When was, Indian Communist Party divided ? 

(A) In 1962 (B) In 1964 

(C) In 1957 (D) In 1970 

7. fodkl dk mís'; gS % 1 

(A) thou dk Lrj Å¡pk djuk (B) izÑfr dk nksgu 
(C) jkstxkj nsuk (D) mi;qZDr lHkh 
The objective and aim of development :  

(A) Raise the standard of living (B) Exploration of nature  

(C) Giving employment (D) All mentioned above  

8. fu;kstu dks loZizFke viuk;k x;k : 1 

(A) vesfjdk esa (B) Hkkjr esa 
(C) lksfo;r :l esa (D) tkiku esa  
The first time planning was adopted by : 

(A) In America  (B) In India 

(C) In Soviet Union Russia  (D) In Japan 
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9. dkSu-lk n'kd fo'oO;kih eUnh dk ;qx Fkk \ 1 

(A) 1940 dk n'kd (B) 1950 dk n'kd 

(C) 1930 dk n'kd (D) 1960 dk n'kd 

Which of the following decade was the period of World Wide Recession ? 

(A) Decade of 1940 (B) Decade of 1950 

(C) Decade of 1930 (D) Decade of 1960 

10. Hkkjr esa fu;kstu dh vko';drk dk eq[; dkj.k gS % 1 

(A) jkstxkj (B) f'k{kk  

(C) vkS|ksxhdj.k (D) mi;qZDr lHkh 

The main cause of necessity of planning in India : 

(A) Employment  (B) Education 

(C) Industrialization (D) All mentioned above  

11. dkjfxy la?k"kZ ds nkSjku Hkkjrh; lsuk us dkSu-lk vkWijs'ku pyk;k \ 1 

(A) vkWijs'ku fot; (B) vkWijs'ku lqj{kk 

(C) vkWijs'ku 'kkfUr (D) buesa ls dksbZ ugha  

Indian Army has started which of the following operation, during Kargil War ? 

(A) Operation Vijay (B) Operation Security  

(C) Operation Peace  (D) None of these 

12. iap'khy le>kSrs ij gLrk{kj fd, Fks % 1 

(A) Hkkjr-Jhyadk us  (B) Hkkjr-usiky us 

(C) Hkkjr-ikd us (D) Hkkjr-phu us 

Panchsheel Agreement was signed by : 

(A) India-Sri-Lanka  (B) India-Nepal 

(C) India-Pakistan (D) India-China 
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13. fizoh ilZ dh lekfIr dc dh xbZ \ 1 

(A) 1971 esa (B) 1972 esa 

(C) 1973 esa (D) 1974 esa 

When was Privy Purses, abolished ? 

(A) In 1971 (B) In 1972 

(C) In 1973 (D) In 1974 

14. ^vk;k jke–x;k jke* dk eqgkojk fuEufyf[kr ls lacaf/kr gS % 1 

(A) fefJr ljdkj (B) tkfrokn 

(C) nycny (D) lkEiznkf;drk 

Idiom of 'Aaya Ram–Gaya Ram' is related to the following : 

(A) Coalition Government (B) Casteism  

(C) Defection  (D) Communalism  

15. Jherh bfUnjk xk¡/kh dh e`R;q dc gqbZ Fkh \ 1 

(A) 30 vDVwcj] 1982 (B) 31 vDVwcj] 1984 

(C) 31 vDVwcj] 1985 (D) 31 vDVwcj] 1986 

When was Mrs. Indira Gandhi, assassinated ? 

(A) 30 October, 1982 (B) 31 October, 1984 

(C) 31 October, 1985 (D) 31 October, 1986 

16. lu~ 1974 esa fuEufyf[kr esa ls fdl jkT; esa Nk=ksa dk Hkz"Vkpkj] csjkstxkj o dherksa esa o`f) vkfn dks 
ysdj vkUnksyu pyk \ 1 

(A) fcgkj  (B) xqtjkr 

(C) fcgkj o xqtjkr nksuksa (D) mi;qZDr esa ls dksbZ ugha  

In 1974, in which of the following state, a movement was started by the 

students against corruption, unemployment & rise in prices ? 

(A) Bihar (B) Gujarat 

(C) Bihar & Gujarat both (D) None of the above 
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17. ^turk ikVhZ* dk fof/kor~ fuekZ.k dc gqvk \ 1 

(A) 23 Qjojh] 1977 dks (B) 24 tuojh] 1977 dks 

(C) 1 ebZ] 1977 dks (D) 1 ebZ] 1979 dks 

When was Janta Party, formed, formally ? 

(A) 23rd January, 1977 (B) 24th January, 1977 

(C) 1st May, 1977 (D) 1st May, 1979 

18. Hkkjr esa ^lEiw.kZ ØkfUr* dk vkàku fuEufyf[kr esa ls fdl usrk us fd;k Fkk \ 1 

(A) Jh eksjkjth nslkbZ  (B) pkS0 pj.k flag 

(C) Jh pk: etwenkj (D) Jh t; izdk'k ukjk;.k 

Which of the following leader has started 'Total Revolution' in India ? 

(A) Shri Morarji Desai  (B) Chaudhary Charan Singh 

(C) Shri Charu Majumdar (D) Shri Jay Prakash Narayan 

19. fo'o fdrus xqVksa esa c¡Vk gqvk Fkk \ 1 

(A) nks xqVksa esa (B) rhu xqVksa esa 

(C) pkj xqVksa esa (D) buesa ls dksbZ ugha  

World was divided into how many poles ? 

(A) Two poles (B) Three poles  

(C) Four poles (D) None of these  

20. oS'ohdj.k dk mís';@y{; gS % 1 

(A) iw¡th dk Lora= izokg (B) rduhdh dk Lora= izokg 

(C) Je dk Lora= izokg (D) mi;qZDr lHkh 

The aim & objective of globalization : 

(A) Free flow of capital  (B) Free flow of technology 

(C) Free flow of labour  (D) All mentioned above  
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Hkkx Hkkx Hkkx Hkkx –    cccc    
PART – B 

fuEufyf[kr iz'uksa ds mÙkj ,d 'kCn ,d 'kCn ,d 'kCn ,d 'kCn ;k ,d okD;,d okD;,d okD;,d okD; esa nhft, % 
Answer the following questions in one word or one sentence : 

21. us'kuy dkUÝsal fdl jkT; dk {ks=h; ny gS \ 1 

National Conference is the regional party of which State ? 

22. yksaxksoky ,oa Jh jktho xk¡/kh ds chp iatkc le>kSrk dc gqvk \ 1 

When was Punjab accord held between Shri Rajiv Gandhi & Longowal.  

23. 1947 ls igys tEew ,oa d'ehj esa dSlk 'kklu Fkk \ 1 

What type of rule was there in Jammu & Kashmir before 1947 ? 

24. ckcjh efLtn dk fo/oal dc gqvk \ 1 

When was Babri Maszid demolished ?  

25. Hkkjr esa dkSu-lh nyh; iz.kkyh ikbZ tkrh gS \ 1 

When Political Party System is there in India ? 

26. clik ds laLFkkid dkSu Fks \ 1 

Who was founding father of Bahujan Samajwadi Party ? 

27. vesfjdk ds lkaLÑfrd opZLo ds dksbZ nksnksnksnks mnkgj.k nhft,A 1 

Give two examples of culture dominance in America.  

28. vesfjdk ij gq, vkradoknh geys dks fdl uke ls iqdkjk tkrk gS \ 1 

The terrorist attack on America is known by what name ?  

29. bjkd us dqoSr ij geyk fdl o"kZ esa fd;k Fkk \ 1 

In which year Iran attacked on Kuwait ? 

30. teZuh dk ,dhdj.k fdl o"kZ esa gqvk \ 1 

In which year integration of Germany was held ? 
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Hkkx Hkkx Hkkx Hkkx –    llll    
PART – C 

fjDr LFkkuksa dh iwfrZ dhft, % 
Fill in the blanks : 

31. ;wjksih; la?k dh LFkkiuk o"kZ …………….………….………. esa gqbZA  1 

European Union was established in year …………….………….………. . 

32. phu }kjk [kqys }kj dh uhfr o"kZ …………….………….………. esa viukbZ xbZA 1 

China Policy of open door was adopted in year …………….………….………. . 

33. Hkkjr vkSj phu ds e/; vUrjkZ"Vªh; lhek js[kk …………….………….………. gSA 1 

International Boundary line between India and China is …………….………….…. . 

34. dPprhoq }hi dk fookn dk elyk Hkkjr vkSj …………….………….………. ds chp gSA 1 

Kachchatheevu island controversy is in between India and …………….…………. .  

35. lqj{kk ifj"kn~ ds LFkk;h lnL;ksa dh dqy la[;k …………….………….………. gSA 1 

Total numbers of permanent members of Security Council are …………….……… .  

36. fo'o O;kikj laxBu (WTO) dh LFkkiuk …………….………….………. esa gqbZA 1 

World Trade Union (WTO) was established in …………….………….………. . 

37. izfro"kZ la;qDr jk"Vª la?k fnol …………….………….………. dks euk;k tkrk gSA 1 

Every year U. N. O. Day is celebrated on …………….………….………. .  

38. Hkkjr esa 1991 esa …………….………….………. lq/kkjksa dh ;kstuk 'kq: gqbZA 1 

In 1991 the planning for …………….………….………. type of reforms were 

started.  

39. oS'ohdj.k dk laca/k …………….………….………. ikjLifjd tqM+ko ,oa leUo; ls gSA 1 

Globalization is related to …………….………….………. mutual affiliation & 

coordination. 

40. oS'ohdj.k ds dkj.k iwjh nqfu;k esa …………….………….………. jkT; dh /kkj.kk iqjkuh iM+ xbZA 1 
Due to globalization …………….………….………. type of concept of State has 

become out dated, all over World.  

S 


